Please show each step carefully so that I can understand your solution process.  There are several parts to this problem, so please do not omit any parts.  I have offered what I consider a fair amount for this problem.  Answers included at bottom.
Problem:  a)Solve the Helmholtz equation when u is a function of r only in 2-D.
                  b)Solve the Helmholtz equation when u is a function of r only in 3-D.


      The Helmholtz equation:   
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      Consider both cases when 
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       **HINT**  In 3-D, let 
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.  In 2-D look up Bessel’s equation.
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